. is .
WL The perimeter of a circle having radius of Scm 1S _——
(A) 30 (B)3.14 cm
: cm
(D) 40 cm i p !bfi
(C)3l4cm . 9 . ¢ | y :
001 53] Gorw xaau agad 101 L2 2 ’f} ~ .
i 5 n
; (B) 3.14 2L =
(A) 30 2.4l XS A
; p) 40 &l -
(C) 3142l (D) .
inscribed i ircle of radius 8 cm is -
002.  The area of the square that can be inscribed inaci ‘Q ‘?Uéi
(A) 256 cm® (B) 128 cm?
(C) 642 cm’ (D) 64 cm? X

002§ el Gorat et aqt il 59 a1 3 AU AASN o 8.
(A) 256 2l (B) 128 A
(C) 642 A (D) 64 1302

The surface area of a sphere is 616 cm?. Its radius is

(A) 7 em (B) 14 cm

(C)21 cm (D) 28 cm

ats el 2wl Axsa 616 002 6. A B 8. AT

(A) 7 _(By14 Al

(C)21ad (D) 28 Al

O e R SRl 2 ik

(A) 60 (B) 45

(C) 40 (D) 30

004. ‘A 2B W sl @ WA 15 Bawni yel 50 93 8, w o

sisdl bz Bauui yol 59 usdl? sell 20 [Bawmi el 59 43 9, dl -A°

A R A+D

(A) 60 (B) 45
e 20 Y
(C) 40 (D) 30 g ot
P teo E
e > Lo 2
Ll ] ; _LI Contd.
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In the figure, PB and QA are perpendicular to segment AB. If OA =5 cm, PO =7 cm and area of

005.
A QOA =150 cm?, find the area of A POB
[
(A) 233 cm? (B) 294 cm?
(C) 300 cm? (D) 420 cm?
005. Al 2u5[RHI 3winis AB GYR PB 213 QA sl2vdl wide det 8. A 0A =54, PO =7 Al w1
A QOA 4 &80 = 150 A2 €lu dl A POB A5 2l 6!
P Gl
1A AB =15©° 3625 L0
z 300 gl
B
AR 60 i
!
1 x6o , 210
X
30 i
292
(A) 233 A2 (B)294A{2 30°
_ msoo A2 (D) 420 A2
006. Two Trains for Mumbai leave Delhi at 6:00 am and 6:45 am and travel at 100 kmph and
136 kmph respectively. How many kilometres from Delhi will the trains be together?
(A) 262.4 km (B) 260 km
(C) 283.33 km (D) 275 km
006. O34 Redll oS o Acid 6:00 cudl A7 6:45 A3l 2t 2w B A 2ty 100 (5.3 ulA scus A
136 Bl uR sad- oA uau 53 8. Redlll 32ai B30, 2 2u6id 21 00 udl ?
(A) 262.4 (7L (B) 260 (3.3, ) i
) 283.33 (3.0l (3.4 R e e
(C) 283. Al (D) 275 5.4 0 L ; 136 20
007.  Which of the following ratios is equivalent to 2:3 ? 196 b\ ]
(A)4:8 (B) 4:9 FhS BhLE
(C) 6:9 (D) 6:12 (‘ ]- 200
akd 33 3 36 9o
007. DA QAL sl il 2:3 A wnsa O, %3
) LO&
(A)4:8 4L (B) 49
(C) 6:9 £ (D) 6:12
6+ (o0
PSIW-C | 3 gty 200 [P,
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A =Btz Breac A+IRE=

008, ., Az ol nBt24n )
18 lw . = CAY Y Sy .
27 ye“"!i:)llbt:\‘:.(.)sltrl'de‘[;"mn ‘B who is twice old as ‘C’. if the total age of *A’, °B’, and ‘C Is
1S ‘B2
(A)7 ; At A2+ 2
(©) 9 (B)8 =
008y (D) 10 A~ hAH 5%
‘B IU2NRAY, 3 o oy oell /2 6. A A7, B @A 1O A ga 627 al el
"R B2l g 7 SA T SY
(A)7 P
B)8§ =
©)9 -
009, ‘A, g (D) 10
12 ;cm y fm‘d ‘C” start together from the same place to walk round a circulfar path of length
the - .A walks at the rate of 4 km/h, ‘B’ 3 km/h and ‘C*3/2 km/h. They will meet together 5¢
Starting Point at the enq of hours.
A
A (B) 12 g+24B+ D2
©) 15 ;
009 CAd (D)24 45+11 =23
’ ‘A" B® 3 4C* g o o) As 2wl 12 (.. aion adousiz ua 6uR waaf a3 53 .
A4 B sens, o 5 Bl /ses 21 <00 372 B30 scusl R 20d 8. A B opouizid) A
Wsdsd Aooum .y sug alou agl. >0 IS
A
(A) 10 ®12 g4 944
010. tA’ run.s twice as fast as ‘B* and ‘B’ runs thrice as fast as ‘C’. The distance covered by ‘C*
in 72 Mminutes, will be covereq by ‘A’in minutes. 5 AR < ’Q‘—"* }O+€_. £
(A) 18 (B) 24 \ <
(©) 16 D) 12 n+ 27
010. ‘A’ ‘B’ 53 yuell ;4] €13 8 24 ‘B ¥ 531 4C’ A2 g 33U €1 B. ¢’ gra1 72 Mllani swiie
. & 4
AAR ‘A’ G ... Aleui swal, G
(A) 18 (B) 24
(©) 16 (D) 12 = L{
011. An athlete runs 200 meters race in 24 seconds. His speedis ___ km/h. B 3
(A) 20 (B) 24 C.~53 15
(C) 28.5 (D) 30 2
011. s elsdlz 200 32 €18 24 As~sui €} B. AN AW ......... Bl 505 . ;C’ g Z
o :
a2 - W)z gk s Gy
(C)28.5 (D) 30 =
012. A man starts climbing a 11 meters high wall at 5 pm. In each minute he climbs up 1 meter but
slips 50 cm. at what time will he climb the wall ? ¥ S 24'[ lo] [ 60 "
(A) 5:30 pm (B) 5:21 pm Tz — 4y
(C) 5:25 pm (D) 5:27 pm 3 .
012 A alE 11 122 Gl Bt 47 sadl asauq a3 536, deds B2 13023208 uig 50 Al aud
: @ a gec.u QIOI E.Qlc'l Qlﬂ 2].52'1 ? ot & g‘b
(A) 5:30 pm (B) 5:21 pm t
(C) 5:25 pm (D) 5:27 pm
4 [ Contd.
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013.  Twotrains 105 meters and 90 meters long, run at the speeds of 45 kmph and 72 kmph respectively,

in opposite directions on parallel tracks. The time which they take to cross each otherls _ - 10§
seconds. b | 44 ,_..l-?é-'
©7 (s A
o3 108 0l22 944 90 e ol A 2wz et o ain2 wan Guz aast 45 (630l Jseus “Atonysy 7
72 (.30l sea1s A @A €13 8. duil ssellon uuR 52 ... A segril UM Al %) % 1;
A B) 6
(A) 8 111? ke (B) 2 3 2 b 4 4
()7 (D)s 3 11 > 25%3 Zq’?
014, 1f230fA=75%0fB=060fC,thenA:B: C= % B e 6 C
(A)2:3:3 (B)3:4:5 2 A =2 P33
3
(C)4:5:6 (D)9:8:10 : 4L s 3
0d. RAF23=BATS%=CA0.68UAA:B:C= e, 223 - 3 5
(A)2:3:3 (B)3:4:5 5 4 S
(C)4:5:6 (D)9:8:10
015.  Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the
probability that the ticket drawn has a number which is a multiple of 3 or 52
40 = ks =36
(A) 112 (B) 2/5 G ¥6
(€) 8115 (D) 9120 tovy 3%
015. 14120 53 2lel A2 Gl 59 2ami 20d © A cuRens 21s 42 wg[Es Ad Waan 2ua 9. ‘o;i
; : g %]
A4z 3 waq 5 4L Ris auadl gl d-l ieua-u 224l agl ? o xgxs 3 \"3'; g1
(A) 172 (B)2/5 ‘“! : 32
(C) 8/15 (D) 9720 B2 -
016.  Three coins are tossed, what is the probability of getting at most two heads? Lo 72
(A)3/4 B) 1/4 go  bg
(C)3/8 (D) 7/8 2 = ¥
016. A2 Bussizal Geonaui 2ud 9. a4l 4y Wil (Heads) slaidl aicua-u g 87 (3 a5
(A) 3/4 (B) 1/4 2
(©)3/8 (D) 7/8 2 .3~ T RT
017.  Insect: Disease ::War: 2 S L’ &G H>
(A) Army (B) Defeat BTV
(C) Arsenal (D) Destruction 3 X
017.  %q:édt::ywm: 2 éf-—"
s \ ‘:
(A) 4~y (B) 812 ;
(GRTETEE (D) [Qua Q0
018. Which of the following words is different from others? ,:
(A) Sparrow (B) Swan &
(C) Parrot (D) Pigeon 9
018. Al WAL sul 2ot vt-udl mas ul 9 ? 1
(A) 25dl (B) Gt S
(C)uluz (D) 56442 i
PSIW-C| 5 | PT.O -7 -
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‘0 n(_{).{EGrﬂ;[HTkL/V\NOfSF

N 0
2 S T uv W b A - T
019 6,11, 21, 3¢, 56, ? g2, 11, ¥F3, 6¥6,
(A) 91 (B) 51
()81 (D) 42 6
019, h.li.ZI.Jh, So, 2
(A) 91 (B) 51 1P
i (C) 81 (D) 42 <R N a3
020. 10 PROSE i coded as “PPOQE”, ‘LIGHT" will he . L&XAFT
m\\ LIGFT (B) LGGHT
(O) LGGFT (D) LLGFE N £
020. A “PROSE" 4\ 55 "PPOQE" QU dl ‘LIGHT 4l 915 ... ul,
“(A) LIGFT (B) LGGHT 20
(C) LGGFT (D) LLGFE 40 ‘(
021.  FAG, GAF, HAL. 1AH, / >
(A) JAK (B) HAL "
(C) HAK (D) JAI
021.  FAG, GAF, HAL, IAH, ’50 *
(A) JAK (B) HAL
(C)HAK (D) JAI
022.

direction of his house and then 30 meters in the

on. After then he walks 30 meters in the South East direction. Now to return
to his house, in which direction should he go?

(A) North-East

(B) North-West
(C) South-East

(D) South-West

022, wis culdn A-u 42l Grz-uln Rouwi 30 {122 24 B ¢ curoug 3 ElRe-uln Rausd 30 30122 4a
9. ~uene A eBe-yd Rauui 30 022 24 B. ¢ A A A1 43 g dlu dl AR 55 (g ¥ usd ?
(A) Grz-yd (B) Grx-yluy
(C) elamyd (D) elBer-yly

023. ‘A’ is son of ‘C’ while ‘C’ and ‘Q’ are the sisters to one another. *Z" is
If“P* is the son of ‘Z’, which of the following statements is correct 2
(A) *Q’ is grandfather of ‘A’
(C) ‘P’ is the cousin of ‘A’

the mother of Q.

(B) ‘P’ is the maternal uncle of * A"
(D) ‘Z’ is the brother of *C*

2 -+
023.  CAHCAASAUD. g O wq Q" A sofloal i@ 8. 7> 34 Q N . 'P‘){Zﬁw} Rs3
et dl A 14 5y [Quim Wy 69 7 e &1—

; i
s (A)Q U AT HLELEL 69, (B) 'P* 3L A At 8, !
(C)*P* 5L A" Al 5 83, (D) 2" 9 Al ousS 8, A%
024. Chopse the word that is necessary part of the given word.
Book

(A) fiction
(C) pictures

(B) puges
(D) learning
024. A4 204 2554 %34 cuut caladl wor waie 53l

Yy '
(A) sieuls (B) WA
(C) = () ANwig

e ——————— T

| Contd,
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025.  Aclock shows 8 O'clock in the morning. Through how many degrees will the hour hand rotate f 2
when the clock shows 2 O*clock in the afternoon ? e g
(A) 144° (B) 1507 /
(C) 168° (D) 180° « _
025, s S ARl K quil o aid 8, oens aloun sl 2 aaiel am 5 aiasl M: ‘m:-'-." (e
sizl s2en Qa0 sul wyl ¥ | (o 2 [{; f;'
(A) 1440 (1) 1507 L ceNeE—
() 168° (D) 180° 2. 69 4p
020.  Ashopkeeper earns a profit of 12% on selling a book at 10% discount on the printed price. Iln-’ 0
ratio of the cost price and the printed price of the hook is . 4 .
(A) 45:56 (B) 45:51 Ii, (é?'
(€) 47:56 (D) 47:51 _ AL
026, A5 GHER A5 sl t9ndell (Fud Gua 10% (25162 A0ll4 daum 521 12% 451 5w 9 T
(544 24 Al 500ll (el il ........ 8.
(A) 45:56 (B) 45:51
(C) 47:56 (D) 47:51
027. By selling a bicycle for Rs. 2,850 a shopkeeper gains 14%. If the profit is reduced to 8% then the
selling price will be
(A) Rs. 2,600 (B) Rs. 2,700
(C) Rs. 2,800 (D) Rs. 3,000
027 s GAER s s 31 2,850 Hi AU 5241 14% 5w B, A 451 92104 8% S2aMi WA 4l
wusadl due Bud ......... adl,
(A) 3L 2,600 (B) 3. 2,700
(C) 312,800 (D) 3L 3,000
028. ‘A’ started a business by investing Rs. 9,000. After 5 months ‘B’ joined with a capital of
Rs. 8,000. If at the end of the year, they earn a profit of Rs. 6,970, then what will be the share of
‘B’in the profit ?
(A) Rs. 2,380 (B) Rs. 2,300
(C) Rs. 2.280 (D) Rs. 2.260
028 "A"31.9,000 4 st il AR 93 53D, § el ous "B 38,000 A 30 A Main 9w aney win
A 3. 6,970 26l 451 Al €lu dl B A g1l 524l oua ey ?
(A) 3L 2,380 (B) 32,300
(© 312,280 (D) 3L 2,260
(A) Rs. 1,425 (B) Rs. 1.500
(© ks, 1:537.50 (D) Rs. 1.8%
()L 102 (B) 3L 1,500
(C) 31 1,537.59 () 3 1.8%
FSIW-C] 7 | PO
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: : i iles, one Nautical pv;p. .
111 Di f Air and Sea travel are measured in units of Nautical Miles, Mile is
! istance o b

equal to
(A) 1.452 km

(C)3.112 km o . .
St A ARl L vidz 4254 Ui 1L 8. 25 A sd mdd w24,

(B) 2.212 (3]

(3) 2.212 km
(D) 1.852 km

(A) 1.452 (3]
(©) 3.112 (30 (D) 1.852 [54l
12, is a project for operationalizing 32 Direct to Home (DTH) Television channels ¢,

24 x 7 basis using the GSAT-15 Satellite for providing high quality educational content to g
teachers, students and citizens.

(A) MOOCS (B) SWAYAMPRABHA
(C) Vidyarthi (D) Vidhyadan

2.l un Riag], Rendl2 244 a6 Gy Aeant-dl Aalds sl g s3q a3 GSAT-15
A2cuse-l Guallol 59 24 x 7 1 Q128 32 suds2 & S (DTH) 2% Al 512 s2014) W2 65,
(A) MOOCS (B) adueqL
(C) ([Qenef[ (D) [Qene

113. Which of the following statements about Human Development Index (HDI) is / are correct?

(A) If the HDI index is 0.7 and above on 1 point scale, it will be considered as High HDI.
(B) If the HDI index is 0.6 and below on 1 point scale, it will be considered as low HDI.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

13, una Qs 3asis (HDT) sued Qay 14 s4/su [QueyRuAl e 67

(A) A wira [@si y2iss 1 Q-2 354 GUR 0.7 2R A-ull Guz €y dl A4 G2 Wi Qs yusis adli
2 dauui vyagl.

(B) A 19 s 42ists 1 062 23 Guz 0.6 2 A0l D2l Gl A3 D e Rsia qusis a3
2 dauui vuas),

(C) (A) 241 (B) i

(D) (A) 14 (B) U4 25y 1)

114, Who among the following Governor Generals created the Covenanted Civil Services of India
which later came to be known as the Indian Civil Service? (
(A) Cornwallis (B) William Bentinck Y
(C) Wellesley (D) Warren Hastings

N4, a4 s a4z ogm2d MR-l 52120084 UAg] Aol 2a-u 53 odl 3 2 wewasll oudly wad)
Al 4l oaelld) ugs 7

(A) sl{dldly B) [Qlqay dlzs -
(C) ddzdll (D) iz dlear -

PSIW - C | 24 | Contd.



115.

116.

116.

117.

117.

Which of the following is the nodal department of Right to Information Act 20087
(A) Ministry of Home Affairs

(B) Department of Personnel and Training

(C) Prime Minister’s office

(D) Department of Law and Justice

21 A4 sl WRAA AR 512 AR, 200844 Alsa (s B ?

(A) A8 HAad (B) sl w1 adlm [Asut

(C) asptuA stlen (D) s1ugL 214 - (et

7 i . ia?
Which of the following statements is correct in relation with the Prime Minister of India’

(A) Is free to choose his ministers only from among those who are members of Lok Sabha.

(B) Can choose his cabinet colleagues after due counseling by the President of India in this

regard.
(C) Has full discretion in the choice of persons who are to serve as ministers in his cabinet.

(D) Has only limited powers in the choice of his cabinet colleagues because of the discretionary

power vested with the President of India.
IRt sttt ouond DA A4 sy Rt g 8 7
(A) dlsaeuAL qeHil o Wi HAiAl uigdll s2a W2 @dA 9.
(B) Ut Aea cuad-tl 02Ul 08 uarual sul eue A 30z el uaieoll 59 u% 9.
(©) An-l 360l Aui Al 413 At 2R as(aill uaiedll s2aum Qe 2iyel [@as offt 42d 9.

(D) ottt AguEA viuarmi 2ddl [@dsdl i 51200 At oAz ueflei-Al el A
wuilRd Aril 4d 8.

Which of the following statements are correct regarding constitutional amendments?

1. Private members cannot introduce Constitutional Amendment bill in Parliament.

3. President cannot send Constitutional Amendment Bill passed by Parliament back for
reconsideration.

3. Constitutional Amendment bill requires special majority for its approval.

4. There cannot be a Joint Session of Parliament for passing a Constitutional Amendment Bill.
(A) 1 and 2 only (B) 2,3 and 4 only

(C) 2 and 3 only (D) 1,2 and 3 only

sitelly Yl suud A U4 su Que wa ?

1. vutoll 4l (Private Members) el oftzefla gaizil wRsl adl asdndl.

2. %%E G120 uAI2 s2aun 20ad oftuzella i WS guA Yt Qe 2 wad 58 sl
3. sjrizelly Yruanu vzl Aol wd v ogudl-l w32 dlu 8.
4. 6{a1R90ld YU WA YR 53 W2 HUEA AYsd A 1 ol U,
(A) &5 19112 (B)55d 2,304 4
(C) 5542213 (D) 551,204 3

PSIW-C| 25 | P.T.O.
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" :s\:hich of the following statements are correct regarding to the Advisory "“r‘sdiﬂi“" T th,
SUpreme Coyrt®
L Itis bi:;;i:: ;m the Supreme Court to give its opinion on any matter referpeg o i by
President. s any reference made 1 ;
2. Aq least Five Judge Bench of the Supreme Court hears any refe de to j¢ Ungy, iy
PoOwer of Advisory Jurisdiction. e .
3. The opinion giy - by the Supreme Court on a reference under Advisory ‘]“""“li“i““ I8 g,
hinding on the President.
(A)1angd2 only (B) 1 and 3 only
(C)2and3 ont:\' ) 1, 2wl 3
8. aqly HEQAU A 51R @SR A= ouetd A 14 sa Rl s ? .
1. 2l gy Y[R 6121 Gedulld 516 we ot ¥R Wil 2GR A {44 8,
2 AR AeraQl oo et via walad A At 2ass wARsR A 460 43 Bedu)q
SR 203 Slhue etd-Ql -uadl s2ai A 8.
3 MU 12 izt dan el w2 walaa iead 612 s Add il LU bty
],
(A) $5e 1 243 2 (B) 85 12433
(€)$5a 204 3 (D) §5d 1,204 3
119,

Which of the following statements is / are correct regarding Human Blood Pressure?

(A) It is much greater in arteries than veins

(B) It is measured with an instrument called sphygmomanometer

(C) Both (A) and (B)

(D) Neither (A) nor (B)

9. 3w dldlu eoust (Human Blood Presy re) etetd A W4 s4)/su1 Rey/RQu-dl A/ Y 7
(A) A DA 5201 wuilng ag q? glu 8.

(B) d 813 A0M23 st 2144 2 Ml 2ud 8,

(C) (A) ¥4 (B) 6id

(D) (A) 241 (B) W4l 2Asuey d]
120. Which of the following is used to detect fingerprints on a piece of paper?
(A) X-ray B Eatrm s
(C) Ultra-violet radiation (D) Casniis S
120 SN 88 WR (B B2t el w2 30 A A\ Gueiloy ey 8?7
() a5l (B) $-513s (el
(C) Wl (3.l (D) s B
121. According to the Atal Ranking of Institutions on Innovation Achievements (ARIIA) 2021, which
of the following institutes ranked 15 ?
(A) IIT, Delhi (B) IIT, Gandhinagar
(C) IIT, Madras (D) 11T, Bombay

121 @12 52 05§03 2 S1dur wfla-ey (ARIIA) 2021, wgau2 d-n U4 56 ¥
uaH sHHAL S 7

(A) 208 2u8 &, Bl (B) 2u 2§ 4, A1z
(C) 2usaus 4, usin (D) 248 21 4, 3joqss
T T
PSIW - C | 26 [ Con
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122.

122

123.

123.

124.

124,

Which of the following statements are correct regarding New Development Bank?

1. Brazil, Russia, India, China and South Africa are the founding members of the bank.

2. Bangladesh and UAF also joined the bank in the vear 2021

3. The Head Quarter of the New Development Bank is located at Capetown, South Africa
(A)1,2and 3 (B) 2 and 3 only
(D) 1 and 3 only
4 1AM~z A oA D V4] s (Rl i 6 7
1 Al 2, sz, Dot 2o wulbs s s w6,
2. 20214 A2 A 451 ven 6l il At
3. 4 a2 Hsq o wag JuziGe, olim wuls vl 20dg 9.
(A) 654 1,294 3

(C) 1 and 2 only

(B) 554201 3
(C) 554 1 w2 (D) 554 12443

Which of the following statements is /are correct regarding NITI Aayog’s 4th edition of State of
Health Index for 2019-2020 2

1. The report is titled as Healthy States — Progressive India —Fighting the Covid.

2. In the category of larger states Kerala, Gujarat and Maharashtra emerged as best three
performers in terms of overall performance.

3. The index has covered 19 larger States, 8 small States and 7 Union territories.
(A) 3 only (B) 2 and 3 only
(C) 1 and 3 only (D)1,2and 3

Al 20121 2019-2020 M- 2pal wuztou yasisA 4 A 2ugld sueid AA-n A4 sg/su @Quqy
(@l 0/ s ?

1. vdaidd Qus - a2 a0l - wilddld suzd - sidls 0 asg - 9.

2. et Al Asllui 320, oraid A w0 Wse uedil 2R3 2 A0 uesirsdl 43 Gmdl
e 8.

3. s’ 19 M2 sl 8 -ttt A%l 244 7 waulRid uz el 2iadl du g,
(A) 5543 (B) 55 2 941 3
(C)55d 101 3 D)1,2413

According to the Government of India, Gujarat has secured rank in the implementation
of Shyama Prasad Mukharjee Rurban Mission.

(A) 1 (B) 3+
(C) 5™ (D) 70

IR ARSI AR, AP ABAY WHMUE HURD 300+t Bl AHadlHi ... 53 30
sul 8.

(A) uddl (B) A%

(C) winl (D) Ml

-~
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126.

126.

Y jﬂﬂa (AAY)"
4 S -di lvoda a Anna 2
Vhic 1 the follow i st lll.‘lllt‘l'll" are l.'{ll'|'t‘t'! l'l."glll (Ill'lg Ant) it.b .
s l pCI ﬂIOI'“h., Jater it was increased t

25 kg of food grains
per month.

used to be issued per family

1. Initinlly

35 kg per family R
ulture labourerss
slum d

raftsmen, such as potters:
der this scheme:

\bled persons/ persons aged 60

1s/ ¢

rural artisar
ligible un

2. Landless & pric ,
. wellers are ¢

blacksmiths, ca rpenfers,
rsons/ disi

d by windows o terminally ill pe
cligible under this scheme.

Rs. § per KG wheat
(B) 1, 2 and 3 only

3. Houscholds heade
Vears or more are

and Rs. 7 per KG rice will be charged.

4. Under this scheme the price 18

(M 1L2,3 and 4
(D) 1 and 4 only

(C) 2, 3and 4 only
UEY it ALY (AAY) ouotd - W4l
25 (Bl 21 AUAHT 219d $d, U

s Rl 8 7
el d auld uZazéls uldaue

1. a3vaH WRU £l wld W
35 (il 34l s 2ued.

2. 2 Al Q50 el Rdlan 50 A
), sfusarilal wa 9. K

3. o UL 64 [l AU AASA Bl
Ageat S50 WRARL WA 0. N

4. 20 dloge 35 3. 5 MR Bell 16 21 31 7 1A Bl 2w cud Aaui wuadl.
(B) 541,244 3

o@, Bzt s BU 3 gouRd, aBuiil, aasl, geizl,

fRasaioL culbazil / 60 a3 aefl ay au-ut esldzi-u

(A) 1,234

(C)§542,3 %14 (D) §5d 121 4

wl'lil:"l Of ‘he followillg statements are cor t i i i i j
: i . rec regardll'lg Klshorl Shak(l YOjana (KSY) Of
1. lhe ﬂbjel:ti\'e is to impm\’e th iti l'ld i e g

- e nutr “lo“al a heal‘h status of glrls il'l. Il:ll.‘ ag I'Ollp of

2. KSY provides the required litera d :
Education. 4 cy and numeracy skills through the non-formal stream of

3. Programme is implemented under the Ministry of Rural Development, GOI
(A) 1 and 2 only (B) 2 and 3 only .
(C) 1 and 3 only (D)1,2and 3 ,
LTk
zd 4z 5124l (Baidl aléa dlogu (KSY) sustd A1 WA s Quul uai o ?
1. d-l G2ey 11- { |
11-18 @il quogel el sl dine 214 2uRl0u-l Ralaui 3Rl sail 6
2. KSY »l ARER ] ‘
(aamau Crzlnal@s uas gRu 33 sdt A Avaics §A0dLER 53 6
ol st wHle (A8 daray, surd 42512 Q0 AHENT sl 20dd 8
(A) 654 1 vi- 2 :
(B) $5d 2 244 3

(C)55d 1944 3
D) 1,29%43
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128.

128.

129.

129.

What i ‘hioleaching'?
(A) Biolenching is the extraction of metals from their ores through the use of hacteria
l N .‘ - ! ‘ |
! i":“"‘!‘i"ll refers to the use of microorganisms to facilitate penetration of groundwater.
(CYBlolels ring refers to exploration of hidden biodiversity treasures inside the marine ecosystem.

Bioleaching i ety of ¢
(”m @ is i property of certain fypes of biomass to bind and concentrate heavy metal

from even very dilute aqueous solutions.
oquidE 9 7
(A) eqaldlEeL A As2Rurn Gual gt At suzsHiel gl [rgrim 9.
1 st o eprelreudad a0 w2 ygepal-u Gl Gea 59,
() el 2 gl mwayledl viez gudal irafafasdr wea-l a4 widl Geam 52 9.
() ol A v A el raauiell win o gl 44
wht2AL ol Rl 2R 8.

| A Abled 522 W2 s

Species diversity enhances the stability of a given ceosystem because —

(A) It reduces trophic levels in a food chain.

(B) 1t reduces the ecological niche of the species.

(C) 1t provides alternative channels for energy flow in food web.

(D) 1t reduces the gross primary productivity.

oAl RRHA e S Gzl Raadt a4 @ 5120 Jueeene
(A) & vie gra Al s i w21sl 536,

(B) 4wl wufazell [@Rread w2l 8.
(C) & vu ANl Goett Mt 2 Asus Adl yd ud 8.

(D) A g wals Geuesdl weld 6.

(atements in relation to District Planning Committees (DPCS) is are

Which of the following s
INCORRECT?

1. DPCs are established under the provisions of the 73rd Constitutional Amendment Act.
s mandatory for State Governments.

2. Setting up of pPCsi
d rural areas, even when the ur

3. DPCs are to take up planning of both urban an
Municipal Planning Committee.
4. Four-fifths of the members of DPCs are elected from members of Panchayats and

Municipalitics.

ban area has 2

(A) 1 only (B) 1 and 4 only
(D) 1,2,3and 4

(C)2and3 only
o DA U4 s/sul RuyRuA WgMia 8 !

(et 2edlogt Al (DPCs)
1. DPCs Al - 734 ojelly Rl wRfusA Al 864 sai audl 8. v

2. PPCs Al 24 yad) wa w51 w2 sooud 8. X
3, 0dl [zuzui AR wedlog A dlan va e DPEs
2l 1 Gu AaiL dle 8.

4. DPCs14/5 el datdl vt A2

2 addl 2 s ofq Qi

(sl aedinidl el wud 8.
(B) 85 1 @t 4

(A) 551
) |,zu-¥3u-‘u

() p8a2 A3
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130.

130.

131,

131.

132.

132.

N

‘mber of a panchayag js 25
(A) The minimum age prescribed for any person to be a mem Yearg,

C rrect?
Which of the following statements is / are co

g i inues only for ¢ &,
(B) hayat onstituted after premature dissolution continu Y e I"“-'““l"lllfng
A panchayat recons

period.
(C) Both (A) and (B)
(D) Neither (A) nor (B)
N2 UG sef/50 QR AR 8 ?
(A) N2t o man w2 416 wgy cu3eed) (MR agam au 25 a 8.
(B) 0 wdett Ranof oute vy sl N WA S AU WS g 2 B,
(©)(A) %11 (B) oiq
(D) (A) 21 (B) U4 s )
Which of the following statements is /are correct?

(A) Keylogger software records keystrokes to gain access to passwords or other sensitiye
ini‘ormalion.

money is paid,

(D) All of the above

A1 A4 53jy50y Rau-d 2uzjjauai @ 2

(A) SldloR qls2q3 WAHASH maq) 2y Hdertelle wRA-) WsA Anqqy 2 A5 308 53 9.

(B) U432 21eus duer wlgeu AU Slagzq yy N ugfadl Guz 35 30 .

(D) GURAsd duy

The Minamata incid

ent, an example for environmenty| degradation,
following?

is due to which one of the
(A) Air pollution. (B) Nuclear disaster

(C) Water pollution (D) Thermaj pollution

ulaRelly i Gersae, Bruad yzq NAUAQ 5 5129 8 9

(A) Uy Hguw (B) WRaugy ayyly

(C) ¥ ugnel (D) wa{et ugum

Contd.
PSIW - C | 30 '



«h of the following statements i VdeeEt o
33 ml:::rity? g statements is / are correct regarding National Disaster Managemen!

1. The National Management authority is headed by the Home Minister of India.
5. The NDMA was established by the Govt of India under Disaster Management Act 2005

3, !nsliiuliﬂﬂﬂi mechanisms at the State and District levels are mandated by the Disaster
Management Act, 2010 '

A 12 and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 2 only

e ARt e s et A2 14 segjs @yl e & 7
1. 251 AR AR AL A et el .

7. Al 2R AR Artsa-l 2tz 225 sl caazaria wAlalum, 2005 “sM
sl 2dl 8.

3. 207u A Brean saud iadly 2l sudlr A A, 2010 G121 5220414 WA 21 9.
(A) §541,2 013 (B) 554221 3
(C) 54111 3 (D) 5542
134, Which of the following newspaper was/were started by Annie Besant?
(A) The Commonweal (B) New India
(C) (A) and (B) Both (D) Neither (A) nor (B)

e a4 sJsul AACURAUARL 2idl Qa2 glaL 13 52 A/ eqjedl ?

(A) 4 Sdle (B) =y Ssal
(C) (A) # (B) ¢ (D) (A) 7 (B) L8l #Asumt 4l
135.  Which of the following Round Table Conferences did Gandhiji participate?
(A) 1930 (B) 1931
(C) 1932 (D) None of the above.
135, ol a4 56 sl URuEH! ML Al edl ?
(A) 1930 (B) 1931
(C) 1932 (D) Gulsa WA 516 L.
136.  Which of the following lakes is /are related to Minaldevi, mother of Sidharaj Javsinh?
(A) Munsar lake of Viramgam (B) Malav lake of Dholka
(C) (A) and (B) Both (D) Neither (A) nor (B)

136, Geaer ruBiedd wa ozl wd AR sqsai wRlaz/aRlarl a7
(A) [@23oum Y1uz dvud (B) HlUL5L HAId auid

(C) (A) 4 (B) virt (D) (A) vt (1) WAL wtsu dl

PSIW-C | ! [ P.T.0O.



137.

137.

138.

138.

139.

139.

140,

140.

141,

142,

143.

o L I'.’
How many floors are visible in Rani-ki-vav of Pata

(A) 4 (s

()6 ("7

el dl aami bean woren elvealae wa s Y

(A4 (B)S

(€)6 ("7

Which of the following Goddesses is known as Sea Goddess”
(A) Randel Mata (B) Vidhadtri Devi
(C) Shikotri Mata (D) Meldi Mata
A1 U4 46 2l el 2l adls adlove 9 7

(A) AAMAL (B) [atAl 2dl
(©) Rusiddl sy (D) #aflua

In which of the following sports event did Sarita Gayakwad bagged gold medal at 2018 Asian
Games?

(A) 100 meters run
(C) High Jump

(B) 4 x 400 meters relay run

(D) Long jump |
ARet 2uasad 2018 AR 2l B A0 WA 56 2 Yol diss iz 547 ?
(A) 100 W22 €)s (B) 4% 400 M2z 94 £1¢
(C) Gl ge5l (D) aivl gesi
Which of the following players has announced her retirement after the 2022 season?
(A) Saina Nehwal (B) Sania Mirza
(C) Mary Kom (D) Mithali Raj
A1 U 56 24413 20220 B e Wt gl 932 59 6 2
(A) War 3y (B) [ Ry
(C) 44 sl (D) el 1

A0 U4 s 2oel) Asell aief) @2

1. (el 2. 4l ymmm ERNTITTTES
(A)§5d1,2 04 3

(C)b5d 1,301 4

A4 WAL s woe Al A gqll wild) 97

(B) §5d 2, 324 4
M2, 394 4

(A) gl () ey
(C) [awyfq () 8w
AL ilbaui mcd izl stz vilol

69 uectd], 4dl midl, e qld) anall. "

(A) 3454 () Guwy
(C) use1cd 912 () xély

PSIW - C | 32




DA UBanl w521 W5R BN,

I
) a9 HL oflo L QRS
(A) A1l (B) Bun
(€) 35 (D) *&u
s, el ARG wie 5.
“AAAS”
(A) AU + 20U (B) ded + 21U
(C) AUt + A (D) Ut + A
6. A ARRRS wie A,
“YAUSR"
(A) URL+ U8R (B) W2 + Busi2
(©)udl + Busr (D) ¥t + BusR
147, “wllwre e 3Enalal il we waie 3.
(A) 4 et (B) di2t Anaal
(€) wll %g (D) g2t RS 529
148, Rl dlaal” 3Eualorl Al w1 waie 3.
(A) vR16L 44y dladl (B) A w2 asdl daal
(C) £¥%19 YR ual (D) uieal dladl
1499. DA A sul e “yaul” Al wwrudl 4l ?
(A) & (B) 4
(C) 55 (D)%
150.  DA-uUA sl noe “ss” Al Q] 44)?
(A) sl (B) xA[G2ad
(C) AAquH (D) Geis
151 Ad-u s AHRMA 2l Al wSR uie 52
A dou dl o 2iui Ravly Gugid ol 1 Ay,
(A)és (B) deyay
(C) 541U (D) Buug,
152, Al auui A0 el 0l wsR waie 53,
%A ¢, 516 ollon L -2l dld dl a2l ourd @8 2ug o sdd 3 MRa-l QAR dMe wiwg
wgdly 9.
(A)es (B) deyy
(C) s¥uzy (1) Guue
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1S3, sy Ag: N Ad
1. aalti;&i J) (a) B2 ppa-l (uzell) "ﬂfﬂ
2. die (@) (b) w4 2goruadl (a2ladl) sl
3.6l (6el) ————— (o) el 3praal () ol
43R () (d) ezl vild)
(A)1-a,2-b3-¢,4-d (B)1-b,2-2,3-¢,4-4d
(C)l—c.Z—d.3~b,4-a (D)l—d,Z—c,3~h,4—a
154 1Bl g 2w,
MG 6 d oy dui 58 A ol 5iflod) 7 1
g 2aud dl § g 3 dasig. 'S
(A) Hetsial (B) RimRell
(C) e (D) axidlaast
155, D& i w3fg -l Wl wsiR yaie 53,
Wt yaadluj ey eyl
(A) e (B) (23
(C) Guye (D) deyay
156.  A-ulQ 44 99 CIEC TP URH Ay w7
(A) 12[8¢ udq (B) {ioyss
(C) (A) 24 (B) o (D) (A) % (B) WA Asugy 1)
157, e, Qs 3R 4 vy @,
(A) t2l3e ydq (B) N
(€) turiz (D) 2
IS8, Ass 944 -
1. ey of|q () HHu-g
2. dludlezgy (b) vuil
3. [Meran weflog) (€) e Hqu )
4. 29lsr1u azoy (d) Wwuy
(A)1-2,2-h,3_¢,4-¢ B1-b2 a3 g4
lel-h.z-c,J-a.d-d M- 2, 3-p 4,
150, sl wlequi . 2t (et adl wiloogy @,

(A) 1ady (B) g

(C) s 3=l (D) (% W
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aRudz 3R Aot A 4 sy ) sun (@ /[l wid ) wiad 97

" (A) JAI A A A A — T A o Aaa sl A4
(B) Al AY YRS A bnaellaiz wan
() (A) ¥ (B) biA
(D) (A) A (B) WA =tsua 4]
il AAGAZL BUEIR o.M 223N W12 AALAL 5.
(A) 3% SA (B) 42
(C) v s (D) A4
(G et Aoyl o A wan ufda sl gz ua a4l ¢AL.
(A) Hetzasusl s (B) adl wa
(C) suidl (D) Hid HAAL ALAAHI
163, AsA Al

LA wes  (a) vs
2. wgoud vl (b) uyls

3. Gasisz sll (c) £4ls

4. 25 [Qzell (d) @22l
(A)1-2,2-b,3-¢,4-d (B)1-2,2-b3-d.4-c
(C)1-d.2-¢,3-2,4-b MD)1-d,2- —¢.3-b,4-2

164, wacds el ouad AA-u A 5/ s Rt/ Q- g | s ?
1. A g2t sl sdai 2ud 8.
2. auA “andlu w2 (B13e unas 294 .
3. dvilan s, 128, 4aasa, 4alas, Feid 7ai [@Ea M RITECEATEL SEV L
(A) 55 1 (B) 5511413
(SECPECE (D)1,2%43
165. A AL
oo el (a) Wl g
s uaawzd (b)) 32 dl fw & el well
3. B2 wedlse (c) 2154 vt

FREEIUATEE (d) %M

(A)1-2,2-h,3-c,4-d (B)y1-b,2-a,3-¢c,4-d

(C)1-b,2-2,3-d,4-¢ D)1-d,2-¢,3-b4-a
166, weaid gl e 2ar ... qaasal Guadl rnaani wudl 8.

(A) AlA YAl 2AL5UH (B) araula

(C) woa %a (D) wdlAl mad
167, e1dg AANATA ZAA e D,

(A) "au-t By Alds

(€)1 () tedl
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16K,

169,

170,

171.

172.

173.

174.

176.

Tl 9 3 el Sl Wl 5 7

(A) 2lae yig (B) 541z

(C) Moy (D) wa-ie
429 Uy vy 2, [aaan we g,

A 48 wya Az, »u 46 43 7u.”

= 2[5 B s w2l A2 s 57

(A) 5217 1oy (B) Msdl A
(C) znzef] {4 (D) gulld

- i - o - "
AAZAL A2 2aliAl AL

(A) Zaiz1y (B) H™-E

(C) Acas Yoy 4| (D) =l

Orders were that we ___the arca within hours to prevent further loss of life.

(A) had evacuated (B) have to evacuate

(C) will have evacuated (D) had to evacuate

Asl you yesterday, the Home Secretan _over this afternoon’s discussions,
(A) have told / was presiding (B) told /will be presiding

(C) would have told / had presided (D) will tell / has presided

What 1 isthatwe _ to think seriously about a thorough reform in the legal
system.

(A) have proposed / should have begun (B) had proposed / were beginning

(C) am proposing / begin (D) was proposing / have begun

More than half of the 850 asylum seckers currently detained in Britain

2 in prison with
no right of appeal. even though the vast majority

with any offence, let alone convicted.
(A) were held / are not charged

(B) are being held / have not been charged
(C) have been held / would not be charged
(D) being held / had not been charged

:)Oal;::i::l‘:: ::.::.r a vast police state that a network of concentration camps
(A) was maintaining / has included
(B) had maintained / would include
(C) is maintaining / had included
(D) maintains / included

The train doesn’t stop at station along the way, but it stops at of the main ones:
(A) all /either By sy =

3 h
(C) each / muc (D) both / some

\v/
pSIw - C | td-
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ink in my pen is reg,

177
(A) The
(O)A (B) An
7. Helikestoplay  yolieyba, (D) No article needed
(A)a
(C) the (B) an
X (D) No article necded
179. ::‘; :“Sba“d's family speaks French.
(C) The (B) An
180. Despite the official ban (D) No article needed
sk aiba demonstrations, the agitating students camc out on the streets
(A) abogtchy (B) for / with
(C) over/ at (D)on/in
181. m:;:;; cancers, the best therapy is a combination _______ surgery, radiation, and
(A) with /through (B) about / in
(C) for / of (D) on/to
182. g:':)’ are planning a pipeline from Baku in Azerbaijan Turkey to the Mediterranean
(A) against (B) below
(C) amongst (D) across
183.  We are, from this date forward, cancelling your company’s credit facility with us vour
poor payment record.
(A) on account of (B) even though
(C) in addition to (D) in spite of
184.  Several doctors were infected by Covid 19 performing their duties.
(A) during (B) while
(C) by the time (D) as soon as
185.  They will dfl_n_o_lgl_] the entire block (Change the voice)
(A) The entire block is being demolished by them.
(B) The block may be demolished entirely by them.
(C) The entire block will have to be demolished by them.
(D) The entire block will be demolished by them.
186.  The government has not approved the new drug for sale. (Change the voice)
(A) The governmem approval for the sale of the new drug has not heen given,
(B) The new drug has not been approved for sale by the government
(C) For the sale Of:;IE new drug, we have n__o_l_b_t‘vn given the approval
(D) The new drug was not approved by the government. =2
S
3 [ P.T.O.
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187,

188,

189,

190.

191.

192.

193.

194.

195.

196.

~~

K tf..“_h‘;'s US grammar. (Change the voice)

by him,
(A) Grammay was taught to us by him. (B) We are taught grammar by him

: , by him,
(©) Grammar wiyy be taught to us by him. (D) We were teached grammar by him
He told her, *I want to meet your father’ (Change the narration)

(A) He told her thay | want to meet your father.

(B) He tolg her that he wanted to meet her father.

(C) He told her that he wanted.to meet your father.

(D) He told her that she wanted to meet her father.
He asked her, *Can

s‘ou lend me a hundred rupees until tomorrow ?’ (Change the narration)
(A) He asked her w

hether he could lend him a hundred rupees until tomorrow.
(B) He asked her whether she could lend him a hundred rupees until the next da

(C) He asked her whether she could lend me a hundred rupees until the next day.}

(D) He asked whether she could lend me a hundred ru

pees until the next day.
He said,

‘Why didn’t you send your application to me ?’ (Change the narration)
(A) He enquired why I had not sent my application to him.
(B) He enquired why I did not send my application to him.
(C) He enquired why had I not sent my application to him.
(D) He enquired why did I not send my application to him.

In training, it is suggested that an in

structor not lay a burden on an individual beyond his
- (Select the correct phrasal verb)
(A) bearable (B) limit
(C) value (D) deficiency

It was surprising that the main opposition party the ruling government on the new
regulations of the laws related to the private institutions, (Select the correct phrasal verb)
(A) backed up (B) checked out

(C) looked over

(D) allowed for
I think he made this decision so t

—  thatit was tgo late when he realised that he
mistake. (Select the correct phrasal verb)
(A) hastily

'd made a

(B) elegantly
(C) solely (D) reasonably
We regret that all buses 1o Jamnagar wil ¢
conditions,

Xperience delays due to bad weather

(A) announcing

(B) to announce
(C) to have announced

(D) to have bee

N announced
Your proposal deserve

in detail,
(A) being considered

(B) considereq
(C) to have considered

(D) to be conside

e e far less lllday lhllll it
te a B
(A) could buy / would ——— *Iyears ago

(B) can buy / hag
(C) should buy /had s,
(D) mighy buy / shoulq

red
The money in our pocket

PSIW-C]| T w T T
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V

197.

198.
199.

200.

PSIwW . C)

so we late to bed,

’t be

They reminded me that we
__ an early start the next morning,

(A) would make / didn’t need to be (B) must have made / can

(©) would mak-e / wouldn’t be (D) could make / needn’t have been

zl:;::;:’nr:;;er is very mild. (Select the correct word having the similar meaning for the word

(A) Rude (B) Bad

(C) Gentle (D) Angry 1'
eaning

The new officer is an arrogant young man. (Select the correct word having the opposite ™

for the word underlined)

(A) proud (B) handsome

(C) tall (D) modest

One word substitution : That which can never be believed.

(A) Irrevocable (B) Inevitable

(C) Incredible (D) Irritable
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